TIIHIE-1 IR3fea Afunet HAH3- A<
Worksheet-1 Real Numbers class- Xth
11.. ufone Rftmr & TaH®se YA . =
.39 f&a 31 Ay & wig™ Aftmret ot || ger JI

w3t ¥ gEses ¥ gu Y TIATenT AT Aaer
EN

JI (AA/A1%3)
Every composite number can be expressed as

product of Power of prime numbers. (True /
False)

2. /5 & nrufara Aftmr I

V5 is an irrational number.

(Adt/a%3)
(True / False)

3.%%&@?%% (ASt/a%3)
1, .
7isa rational number. (True / False)
4. Aftmiet 64 W3 96 T HAS. JI

H.C.F. of 64 and 96 is .
8)32 »M8 ¥ 16A) 4
5. 35 x 2V5 & niufore Aftmr T
(AJt/a%3)
3v/5 x 2+/5is an irrational number.
(True / False)
6. = T TAHBR YT |
(A3 / MH3)
Decimal representation of i—z will be

(Terminating / Non terminating)

7. = f&x Afen I
(UfIAT / niufarm)
T is an number.

(Rational / Irrational)
8. % T THHSR YAT U UST J9 |

Find the Decimal representation of %.

9. 0.1201200120001 ¥ At I
(Ufare / miufaie)
0.1201200120001 is a/an................. number.

(Rational / Irrational)

10. 43.123456789fEx

43.123456789 isa/an............... number.

12. <R fg ufonw Afiret T TRH®e YA
3 I& 7 WH3 I3t I8 |
State whether the following rational number

will have a terminating or non-terminating
decimal.

73
(1) 1850

(2) %6 =
23 x 5%

(3) 229 =

23x32x 5’

13. JIEeds TU 8 YT I3 |
Complete the factor trees.

24

/\

2 12

O
AN

14. HftmfT 156 3 »i8™ Hitm<t € gieaes ©
U <9 TR |

Write 156 as a product of prime factors.
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18. 510 »3 92 & HA.Z. W3 BHIUS 9 M3 79

15. 6, 72 M3 120 T H.A.T. »FH Jsays feut 79 fx € Aftm=t T JE6es = HAR. x BAT.
It Ut A9 | Find the H.C.F. and L.C.M. of 510 and 92, and
Find H.C.F. of 6, 72 and 120 by prime factorization verify that Multiplication of two numbers =
method. H.C.F.XLCM

19. At 306 ¥ 657 T H.A.E. 9 J1 fegst =

®.HL. UST A9 |

If H.C.F. of numbers 306 and 657 is 9. Find the
L.C.M. of these numbers.

16. 135 i3 225 T H.A.T. UX(®S <5 MBI 9EH
It usT FJ |
Find H.C.F. of 135 and 225 by Euclid division
algorithm.

20. ni3H JEaus fedt It o fedfort Hftmret @r
HAZ. 73 B.HL. U3 d9:
1) 8,9 m3 25 2) 12, 15 ™3 21
Find the H.C.F and L.C.M of the following numbers
by using prime factorization:
1) 8,9 and 25 2)12, 15 and 21

17. g &9 fa 3 + V5 5 niufgno mfimr T

Prove that 3 + \/gis an irrational number.

21. ¥F 3x5x7+7 f&€x 3/ Aftnr fa8° I

Why 3x5x7+7 is a composite number?
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TITHIE-2
Worksheet-2

-~

JJue
Polynomial

AHS- TAS

Class- Xth

1. 3t gguw <t g Qerads e8|

Give an example of a linear polynomial.

2. f&x 8 w3t ggue ¥t Su 3 <U
IEQI fredt I AaE™ I51  How

many zeroes are of a cubic polynomial?

3. 79 a M3 BT WSt TgUT ax® + bx + ¢
it € fAga’ 9T 37 :
fAEat T 77 (atp) =
fregt < g=" (ap) =
If o and P are zeroes of ax? + bx + c, then
Sum of zeroes (a+f) =...............
Product of zeroes (af) =

4. 793 p(x) & g(x) &% I oi3T A I
e q(X) 3 r(x) ot 9= 3T feR w I
M@AfIEH T8 | When p(x) is divided by
g(x) then we obtained q(x) as quotient and
r(x) as remainder , write division algorithm
of it.

5. 763 iy 139 p(x) Ett fI&hrt freat 357

In given graph how many zeroes are in p(x)?

6. FIUT p(x) T MY 3 p(x)
Thort fagat < farsst usT 39|

The graph of polynomial p(x) is given. Find

the number of zeroes of p(x).
X

Y Y

7. f8 € W=t ggue Uzt 99 fAre fAegt =
73 -7 3 I56E% 10 J|
Form a quadratic polynomial, the sum and
product of whose zeroes are - 7 and 10.

8. o x=Y%IIUT 2x2-6x + 3 & ¥ fhAgg
JI
Determine whether the x = Y2 is a zero of
polynomial 2x2 - 6x + 3?

9. Axg ffq qwrst ggue 3x2 + kx - 2 @ f&fx
fAgg -2 =@ 3T kT H® UST A9 |

If one zero of quadratic polynomial 3x? + kx -
2 is -2. Then find value of k.

10.9gUT  x2-6x+5 Tt fASIT T A32® ni3
ITHSH UST AT |
Find the sum and the product of the zeroes of
the polynomial x2-6x+5.

11. f&x W=t ggue usT &9 far I fAeat
Js fedhrt gs |
Form a quadratic polynomial whose zeroes
are as follows:

(i) 5, -6 (i) 2 + V3,2 -3
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14. 799 2x3+x2-6x -3 ¥ © fAgg -3 ni3
V3 = 3t gt Inft fAEST usT A9 |
Obtain all other zeroes of 2x3 + x2 - 6x - 3, if
two of its zeroes are —v3and V3.

12. ¥JUT p(x) = 4x3 - 8x2 + 8x - 1 & g(x) =
2x2 - 3x + 2 &% FGT I9A IS N3
EiciRIELEe cf
Divide the polynomial p(x)=4x3 - 8x2 + 8x - 1
by the polynomial g(x) = 2x2 - 3x + 2. Find
the quotient and the remainder.

15. H7d9 o M3 BT W=t ggue Torf © fAga’
JEM3 a+Pp=3,0-p=-13= 3<%
W=t ggUT U3 I |
Find a quadratic polynomial whose zeroes
are o and [ satisfying the relation a + § = 3
and a-p = -1.

13. ggue 4x* + 2x° — 8x% +3x -7 f&5° o
werste fa feg ggue 2x% + x — 2 3%
Sfanr A<
What must be subtracted from
4x* + 2x3 — 8x? 43x -7 , So that it may be
exactly divisible by 2x? + x — 2.
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IIHE-3

< o% &g At mitaest 2 A3

AHS-TA=

Worksheet-3 Pair of Linear Equations in Two Variables Class-Xth

Q.No. 1- J&' &3 mitagst 9" fagzst € o'
% Ut AT I& | Determine which of the
following equations are linear in two variables.
3x+4=0, 4x-2y+5=0, 3x’+4x=1, 3x+4z=5

Q.No.2- fu®m= J: Match the column:

al b1l c1 - v .
—F—# — =T I% &Jt/No solution
a2 g% c%
al C ~ v )
ij—=—z — <% T8 I&/Exactly 1 solution
a2 b2 c2
..al bl c1 ~ o . .
iil—= —= — MoK I&/Infinite many solution
a2 b2 c2
Q.No. 3-
i.Agg € Juet fex fifg 3 dedhit Iz 3t It mflaee
YTt E _ J% Jer I

If two lines intersect at one point, then pair of
linear equations has solution.
ii. g © JuTet AT dT 3T It miteeT Yyt =
J% Jer J|
If two lines are parallel, then pair of linear
equations has solution.
iii. 7579 € Ju=t AUST dT 3T St miaeE yIrEt 7
I% JT I |
If two lines are coincident, then pair of linear
equations has solution

Q.No. 4- TR it AHia@st & A3 Haz J A
WHJT3 | Determine whether pair of linear equations is
consistent or inconsistent.

a) x+2y =4,3x+6y =12
b) 2x-7y =1,-4x+14y =2

Q.No. 5- 3t mftaget & A3™x=2, y=6 niesdt Ju &8
Juet § TIAEE J|

2) g (6,2) 3 Aeet

4) fde (2,6) 3 JeEMit

1) AHZT

3) AUTST

A pair of equations x=2, y=6 graphically represents
lines.

2) Intersect at (6,2)

4)Intersect at (2,6)

1) Parallel
4) Coincident

Q.No. 6) 3x + 7y = 4 © AMI3J Q& d9 It
A9 f&9 1 Write any one Linear equation of
the line which is parallel to 3x + 7y =4 .

Q.No. 7 a ¥ H& U3T 9,79 AHlags yEmt
TNTIT TIATEMT Iyt 3x + 2y - 4 = 0 ™3 9x — ay
-3=0 A 39 dcei I | Determine the
value of ‘@’ if the system of linear equations

3x + 2y -4 =0 and 9x —ay — 3 = 0 will represent
intersecting lines.

Q.No. 8 k T H® U3T &9, Add Ju™=t 2x — 3y = 16
M3 kx - 9y = 18 AHT3T J= |Find the value of k
so that the lines 2x — 3y = 6 and kx - 9y = 18 will
be parallel.

Q.No. 9 For what value of k the following pair
has infinite number of solutions. (k-3)x + 3y =k
k(x+y) =12
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keT H& U3T 9,759 AHISEE Y&t (k-3)x + 3y = k
M3 k(x+y) = 12 © Wid3 (WEdIfes) I% I |

Q.No. 10 k @ H® U3T a9, 79 Jut AHtedE
ySTTH x+2y=5, 3x+ky-15=0 T fEx fesu=s
J® J21 For what value of k, will the system of

equations has a unique solution. x+2y = 5
3x + ky -15 =0

Q.No. 11 79 5 USHAS' »3 7 U'st &t H3
50 quE, 3 7 UsfAs »m3 5 Ust & oW
46 JUE J2, 3T 1 UsH® M3 1 UG & W3
UsTII 5 pencils and 7 pens together cost Rs.
50 whereas 7 pencils and 5 pens together cost
Rs. 46. Find the cost of one pencil and that of
one pen.

Q.No. 12 ™3z y=&t § I% &9 : Solve the
equations: 3x—-y=3 7x+ 2y =20

Q.No. 13 FAHlads y=&t & miey fedt grdt

J% &J | Draw the graphs of tF\e equations,
4x-y=4 4x+y=12

Q.No. 14 FHIGTE x-y+1=0n3 3x+2y-12
=0T e g | y -ud w3 fegat Ju<t 7%
72 fagm @ fiuat @ fogem wia usr &9 w3
f3gA a9 U39 § Efenm-nifas g |

Draw the graph of the equations x-y+1=0
and 3x + 2y - 12 = 0. determine the coordinates
of the vertices of triangle formed by these and
the y-axis and also shade triangular region.

Q.No. 15 f€x nireHl 370km gt AE BEL,IS
I IKAST AT »F I I9 eI I
g9eT I, 7ad €T 250km IBAST THITT WS
F&T FF AT I F9e J 3T BAS 4 Ue
BdC IS I173d 8T 130km IHAET TnaT M3
&t 9 ST S F9eT J 3T GRS 18 fife
U BIT TS | IHIST W3 I T I7% U™ T |
A man travels 370 km partly by train and partly
by car. If he covers 250 km by train and the rest
by the car it takes him 4 hours, but if he travels
130 km by train and the rest by car, he takes 18
minutes longer. Find the speed of the train and
that of the car

Q.No. 16 € nix I Aftm™ T nixt @7 743 9
J 17959 Aftmr feg' 27 wer fe3 7= 3t Gre
vigt § 8®er & Aftm gT A I, At Uzt
&1 The sum of digits of a two digit number is
9. If 27 is subtracted from the number, the digits
are reversed. Find the number.
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TJaHIE-4

Worksheet -4

T WSt AHtagE

Quadratic Equation

AHS-TA<

Class-Xth

1. Jot f&3 &9 faost mitaes € w3t mitegs 97
Which of the following given equation is quadratic
equation?

a) ax*+bx+c=0, az0 b) ax+b=0, az0

2. A9 a9 fx Jo fifanit &5 fagzr € w3t misgs
x2+5x-6=0 €T H& 37
Which of the following is a root of Quadratic
Equation x2+5x-6=07?
(i) 2 (i) 3 (i) 1 (iv) o0

w=t Is|

Check which of the following given equations are

W

guadratic equation.
a)x?+3x-1=0
b) (x+1) (x+3)=0
c) (x-2)?=x2+3x+5
d) x+ %:
4. PHIGIE 2x-ax+6=0T Ea HB 2 R It a &
HE U™ &9 |
If one root of equation 2x?- ax + 6 = 0 is 2 then

value ofais

@ 7 (i) -7 (ii)

SRS

(iv -

(SIS |

5. AHISGE ax™bx+c=0 ¥ < 35 f3a w3 TAsfex
HS J=dr A9 bZ-4ac
The roots of Quadratic Equation ax*+bx+c=0 are
real and unequal if b?-4acis

) <0 @Gi) =0 (i) =0 (w)=0
6) fHos 9:
ATHH 1 THH 2
1. € 185 15 Tr3iex v b-4ac=0
2. 9999 THIRA HS b2-4ac <0
3.9ET TSR HS adt b2-4ac =0
Match The Column:
Col. 1 Col. 2
1. Two Different and Real Roots b%-4ac=0
2. Two Equal and Real Roots b%-4ac =<0
3. No Real Roots b%-4ac =0

7. H® ©F UIfgSt UST 9 | Find Nature of roots:

1. x*+5x+6=0

2. 6x*>-x+2=0

3. 4x*-4x+1=0

8. k T H® U™ &9 37 7 I3t It © w3t mitagst
T YS 9999 J AT
For what value of k the given equations have equal

roots.
1. Kx2+3x-4=0

2. y2+6y+k=0

9. H& U3T &J. Find the roots of given Equation
(i) 2x*-3x+5=0
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(i) x-==3 12. € wifddt B39 2 TeSHE Hyds Aftnet
* U3 F9 gt € T9ar € A% 290 I |

Find two consecutive odd positive integers whose sum
of the squares is 290.

(iii) 5x*—2x+2=0

13. 5 € € B39 AT T JEaed 300 I, v
JeH UST T |

Product of two consective multiples of 5 is 300 . find
both multiples.

10. J=ays fedt Idt 3% 9. Solve by
Factorization.

1.3x2-7x-6=0 2. 2x2- x+$=0
14. T Aftpret U3t a9 fAgh ¥ 73 25 M3 IT56H
154 3|

Find two numbers whose sum is 25 and their product is
154

15. 7 7% Ufg® @9 < GHI et & BHa =7 5
I AT 3 A% gwiE ACTSt <F @HT 9= & BHa T
L 2/5 & T AN |1 EIT Tt TIIHTE BHIT UZT AT |
11. Y96 91 887 o IS 4.
Solve by completing square. 7 years ago Varun's age was 5 times the age of Swati’s
2x2-5x+3=0 age. 3 years hence Swati’s age will be 2/5 th of Varun’s
age. Find the present ages of both.
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TIXHIE-5
Worksheet-5

MAdIESH B3t

Arithmetic Progression

AHS-gA<t

Class-Xth

Q-1- fxa3t nigarfesa &3t (AP) T ?
Which sequence is an A.P ?

(1) 1,3,9.,27 ,.........

(2) -10, -6, -2, 2.,

Q-2- & Tt wigarfssa &3t (A.P) = Uufa®r u=g(a)
™3 AST WizT (d) U3T 9~

Find first term and common difference of given
A.P’s:-

Q-3- MIJIfE3d BT (A.P) € I TIAE UL U3T
XJ:- Find the mentioned terms of given A.P
(1) 10,13,16,19. ... .... 202 UE | (20" term)

2) A9 a=10, d=2 J< 3t a,, U3T &9 | (find ao)

3) 5,11,17,23, . ........ n<t yg? (find n term)

Q-4- I&" fe3nit wigarfssx &3t (A.P) T U=t ot
farzst usT %9:-
Find the number of terms of the following A.P

(1) 5,8,11, 95

(2) -5, -8, =11 ............ -230
Q-5. fHeE &9
HIT a1,a2,3s........an O WiFAE3S BI3T < 3

Match the columns:
If ai,azas........anare terms of AP.

ITBH 1 TBH 2
1) n = UT (n" term) Z[2a + (n— 1)d]

2) nyUet T #3E5 ( S,) az — ay

3) AT »i33(d) a+ (n-1)d

Q-6 Y@ 8 39 : (Fill the blanks)

Q-7 799 an = 3n + 2 J< I It UST AT |
If an=3n+2 then find AP.

Q-8 &t f&g A.P. 9=78% T&| Are they in AP.

v
6

| gl Ll
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Q9 an3 be & U3TJ9 Aad a, 7, b, 23 A.P.
fé9 d=1 Findaandbifa, 7, b, 23 arein A.P.

Q-10 wigdafssx &3t AP 21, 18, 15,............ =l
et ug -81 T, o ferer q€ Ug 0 J AeT J7?
Which term of AP 21, 18, 15,............ is -81. Is it
possible that 0 is the term of AP?

Q-11 ot 146 nixdfesx 3T 4, 9, 14, 19,............ T

ug J?
Is 146 is the term of 4, 9, 14, 19, ..................

Q-12 .BA A. P. T 312 UT 3T o9 fAmeT 112 ue
38 M3 163 UT 73 J1

Find 315 term of AP, Whose 11t term is 38 and 16%
termis 73.

Q-13 wadrfesa &3t 2, 7, 12, ... T ufa® 12
et T A3e® UST A9 |
Find sum of first 12 terms of AP 2, 7, 12,

Q14 8% ufg® 15 J=AT T A3SH UST A |
Find the sum of first 15 multiples of 8.

Q-15) 636 AF YU3 FI6 Bt AP- 9,17, 25,...........
T foa uT &2 Idie I |

Find number of terms if sum of A.P-9,17,25,.................
is 636.

Qi6 fai Fgs ¥ fefonmaghnt § Ga7 & M
YTIRs BT 7 dae fEaH ¥ &g 700 quT &
IH It IS T | AA9 TIF fEEH »iUE 3 Bt
ufgs fea™ 37 20 JUT e I° 3 g9 feaH @
HS UST I |

A sum of Rs 700 is to be used to give seven cash prizes
to students of a school for their overall academic
performance. If each prize is Rs 20 less than its

preceding prize, find the value of each of the prize.
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TITHIE-6 IECGU

AHS-gA<t

® -
Worksheet-6 Triangles Class-Xth
8. fam f337 AABC &9 AC? = AB? + BC? 3= 3*

. A9 989 _____J¥ TG | (ATEdHH, AHIY) gz d= AHAE J<ar?

All circles are .(congruent, similar) ®) 24 ) sB  (¥) «C (A) 9=t &t
2. A g 339 AHIY Je I8 | (f‘ER:I’)—I‘e’FfT, If in triangle AABC,ACZ = AB? + BC?then which

AHESHT, AHgHT) - angle of AABC will be right angle:

All triangles are similar. (scalene, (A) 24 B) £B C) £C (D) None.

isosceles, equilateral) A
3. AHY fI39 &hnrf € Bergaet fek . - 4cm 3em

Give two different examples of pair of similar o g) ) DF I BC U:g’ D E

figures, 3HEC T HE UST S|

S spes oo o ma If DE || BC then, Find ~ 12cm ?
4. I&t &3 337 faast IASH IS AU T5 9 I en, min B

- = the value of EC. C

R . .DE EF _
. 79 AFED~ASTU T BTS—T = T (ATT/I®3)

L x ¥ o3 A B
e DE || AB J1 3x+19 3x +4
What value of x D E
will make DE || AB.
X+3 X

. © AHIY f33a" Tt gAr=t T niguTs 4:9 T

P

A

' 60°
‘60°
40" 80°

B Z) (\ C X

40° 80

Q R

(®)FA-3A-ZAT () AT-AET-AE
(®) IT-S-3A () AE-IA-AT
Under which similarity criterian the given triangles
are similar?
(A) SSS (B) AAA

(C) SAS (D) ASA

DE EF
If AFED~ASTU then— = — (True/False)
ST TU

fegst f3gat € §39e® & nigUTS JedT:

®) 2:3 () 4:9 (¥)81:16 (A) 16:81
Sides of two similar triangles are in the ratio 4:9.
Areas of these triangles are in the ratio:

(A) 2:3 (B)4:9  (C)81:16 (D) 16:81

i) fisg f&g ABIDC 3.°
X T H& U3T a9
AB 11 DC find the

value of x
10, frmg fg 22 = Pl 3 !
sQ TR
LPST = £PRQ J|
Ao a9 fIAPQR fEx S T
FHEgHT 33 J1
Q R

. . PS PT
In the given fig. 5 = Eand 2PST = £PRQ.

Prove that APQR is an isosceles triangle.
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11. 6 Ht. Bgret @8 f¥x B9 gu {9 vz Fa ds
&t mits ‘3 ugeE= °t saet 4 v T, 79 fa
R AN fEa Hiarg & ugae & Saret 28 M.
J1 Hisg <t Bt usT A9 |
A vertical pole of length 6 m casts a shadow 4 m
long on the ground and at the same time a tower
casts a shadow 28 m long. Find the height of the

tower.
~ SN ~ BC 1 .
12. 73 AABC~APQR d< M3 Q_R = 3 3T
ar(APRQ) y o
———— €T HH U3T JdJ |
ar(AACB) -
BC 1
It is given that AABC~APQR with Q_R = 3 then
ar(APRQ)
ar(AACB)

13. D ™3 E gH<9 AABC
(o3t 2¢ QU9 AHasT E
J) Enit ARt CA N3
CB 8u3 AfE3 T3 | N
Ao 9: ¢ D A
AE? + BD? = AB? + DE?
D and E are points on sides CA and CB
respectively of a AABCright angled at C.
Prove that
AE? + BD? = AB? + DE?

14, f&a gemst Aow & g2t »ig 3 JuT 9%
2000 fordt.afer & 9% &% 83w J1 €7 AN fEx
39 IeTE Ao B TeET »iF 3 yIE T 2400
km/h & 9% &% 3T J1 21 We gme It
Jeret Ao € fegargwr g9t fast It ?

An aeroplane leaves an airport and flies due south at
a speed of 2000 km per hour. At the same time
another aeroplane leaves the same airport and flies
due east at a speed of 2400 km per hour. How far
apart will be the two planes after 21 hours?
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TITHE-7
Worksheet-7

feger via fafest HAHS-TA=T

COORDINATE GEOMETRY Class-Xth

—_

fag (3,7) & x o9 3 g uzT I}
Find the distance of point (3,7) from x-axis.

ye fig € fogem via €R |

What is the coordinates of origin?

feg Jur 3 Afez ¥ At <o fHenr
afde T5|

Three or more points on one line are called

1k

fag P(xy) T y& fig 3 gt uzT F3|
What is the distance of P(x,y) from the origin

Hog fon f3ga @ u39e® feargot T
3t AT fAug At JT &1
If the area of any triangle is
vertices are collinear.

y-09 3 8 ffg uzm a9 & faentt (2,3) mi3 (-4,1)
3 g9799 It 3 J|

Find the point on the y-axis which is equidistant from
(2, 3) and (-4,1).

units then its

7. kT H® UST 9 #aq9 fag P (0,2) e A (3.k) n3
B (k,5) 3" 89789 T 3 J|

Find the value of k if P (0,2) is equidistant from points A
(3,k) and B (k,5) .

8. fgnft (-3,10) »i3 (6,-8) 3 H&BT T& Jus &
fag (-1,6) fam nigurs f&g <% I7?

Find the ratio in which the line segment joining the points
(-3, 10) and (6, — 8) is divided by (— 1, 6).

9. k & H® UST &9 ra9 g (8,1) ,(k-4) »3
(2,-5) AHIHT T |

Find the value of k if points (8,1) ,(k,-4)and (2,-5) are
collinear.
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10. fgnit A(-4,0) »3 B(0,6) & THeBT =& Jus
$ U9 M IuT YT dse B fent @ fegem
& UST FJ |
Find the coordinates of the points which divide
the line segment joining A(—4, 0) and B(0,6)
into four equal parts.

11. 87 fig ¥ fogem »ix uzT a3 w e (-1,7) =3
(4,-3) & PioBs o® Suds § 213 © nieus g
3T J|

Find the coordinates of the point which divides the line
segment joining (-1, 7) and (4, —3) in the ratio 2 : 3.

12. 87 f337 T ¥39e® U™ a9 AR T fiug gHeg
(-4, 2), (-3,-5) »3 (3,-2) I&|

Find the area of the triangle whose vertices, taken in
order, are (— 4, 2), (-3,-5),(3,-2)

13. a9 A(4,2) B(6,5) C(1,4) f&x 337 ABC © fing
I5|1 AT T o AE T Hitar BCE D €3 fheset I 3
AD & BgTEt U3t &9 |

Find length of median AD of a triangle ABC which
meets BC at D, whose vertices are A(4,2) , B(6,5) and
C(1,4).

14. BH 93937 T 439e® UST &9 A T g gHeg
(1,2), (6,2), (5,3) ™3 (3,4) TS|

Find the area of the quadrilateral whose vertices
taken in order are (1,2), (6,2), (5,3) and (3,4) .

15. fdentt (5,-6) »3 (-1,-4)  TH®BT T Jur b
3 Y-gTr fam nieurs f&g <5 J1

Find the ratio in which the line segment joining the
points (5,-6) and (-1,-4) on Y-axis.
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TITHZ-8 f3astHat o9 aEaar A4S TR

Worksheet-8 INTRODUCTION TO TRIGONOMETRY Class :Xth

1. fo39 3T It fou f3aefH=t nigus U™ 9 |

Find the trigonometric ratios for the following

diagram.
A .o
(ii) sec® A + 2 tan® A.
B C
sinC = 48 SinA =
AC
tanA = cosC =
tanC = cosA =

5. 5% u3T &9 ( Evaluate)

2. fH®= I9:Match the columns:
3 cos? 30° + 2 tan® 45° — sin? 60°.

1
sin(90 — 9)
cosb
c0s60° 1
tan30° 1
an 5
sin%6 + cos?6 cosf
p 1
sec —
V3
N . 5 . =
3. ﬂa—q’smezﬁwaﬂsﬂﬁa&—ﬁ@mw

&I If sinf = 133, then find other T-ratios .

6. HS U3T 9 ( Evaluate)

2s5in26° 4tané65° cosec 70°

c0s64° cot25° sec20°
4. FF9 tanA:% M3 2C = 90° = 3T HS U
I3 11f tand = -and £C = 90°then find.
(1) sin A cos B + cos A sin B. 7. ¥® Uzt a9 ( Evaluate)

sin®10° + sinz80"+ 4 sin 70°
€05225°+ c0s265° cos 20°
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8. fAT &9, Prove that:

tan 26°tan 23%tan 45°tan 67°tan 64° = 1.

9. T sin 4A = cos (A — 10)°, fiF 4A 8 585 d= T
3T AT NS U3T A |

If sin 4A = cos (A-10)°, where 4A is an acute angle. find
the value of A.

~ . \/§ i
10.Fla_d’sm(A+B):1,cos(A—B)=7WB

0°<A+B <90° A>B.3" A »3B T H& U3T I |

Ifsin (A+B) =1, cos (A -B) =§ and

0°<A + B <90° A > B. Then find value ofA and B.

11. ¥® U3 &9 ( Evaluate)
9 sec’ A—9tan® A + (5 sin’@ + 5 cos?6).

12.fig &9 (Prove that)
tan A tan A

_ =2 A
1+SecA 1—Seca <“°9%¢€

13. H® U3T &9 ( Evaluate)
cosA—sinA+1
cosA+sinA—-1

= cosec A + cot A.

14. 79 A, B »3 C 337 ABC ¥ »iegat d& a5 3t
feu§ f If A, B and C are interior angles of a triangle

. A+B c
ABC, then show that sin (%) = cos -
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TISHIE-9
Worksheet-9

f3aefH=t € o3 Quudr

Some Applications of Trigonometry Class-Xth

AHS-TA<

1. 8 AHAE f3de 99 a96, B9 w3 wigg =r
AET f&  Write the relation between perpendicular,
Base and Hypotenuse of right triangle

2. f3ashst faoz f3gat 3 &a J=t I
(1) AHgHT  (2) nifux J&T (3) AHIET
Trigonometry is applicable for which type of triangle
(1) Isosceles Triangle  (2) Obtuse Triangle (3) Right
Triangle
3. f&x AHaE faa feardt & Jer T
Right angle is of degrees.
4. e € uretardan f3die fod |
Write two Pythagorean triplet

5. fg39 oud TS o
3 89 d @ & TR

Identify angle of elevation
and depression from the
figure .

6. € 6 Hizg €9 ¥¥ T ugee &t saret 2V3 Mt
?r, ISEI T USTAIIA pole 6 cm high casts a
shadow 2v/3 m long on the ground, then find the
angle of elevation.

7. f8x 15 M. Saret <t Ut f¥a U 57% saret gt
J, 7 8UT dz 60°3° 3T U & GUTE U3T AT 1A
ladder 15 m long just reaches the top of vertical wall.
If the ladder makes an angle 60° on the ground. find
the height of the wall.

8. I&J1 »T &% f&q Tauzs e Afer I ni3 Zfenr
Jfewmr g1 fo/ 397 a7 43 7w J X Ty =
e ms § gJ2 SaeT J w3 fere &% 30°TT dT
FT8TT J1 TIu3 ¥ »io9 fie & g, e Tous
= fug mfts & goer 3, 8 . J1ETus & Guret
U3T 9 |

A tree breaks due to storm and the broken part bends
so that the top of the tree touches the ground making
an angle 30° with it. The distance between the foot of
the tree to the point where the top touches the
ground is 8m. Find the height of the tree.

9.8 Hiad 7 ANS® AHls 3 b3t J, @ uga= B8R
At R so o Bar Jafer I Ad AoA &
fiug B9 60° 3° we & 300 § Afer I Hieg
8uret uzT I |

The shadow of a tower standing on a level plane is
found to be 50 m longer when sun’s altitude is 30°
then when it is 60°. Find the height of the tower.
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10. f€x 100 Ht €9 uarst <t 8¢t 3 fam e @
fug w3 »org T aleTs JE gHIT 30° M3 60°
I5| Hterg < Garet uzT a9

The angle of depression of the top and bottom of a
tower as seen from the top of a 100 m high cliff are
30° and 60° respectively. Find the height of the tower.

11. fex ot & 9t 3 yIg &% A3 3 B HS
UEst (km fR9) § uT 3 € 5% HIe Uudt T alew
& 30" 83 45" Ia | UTTSt < Gt U3t A9 |

From the top of a hill, the angle of depression of two
consecutive kilometer stones due east are found to be
30° and 45°. Find the height of the hill.

12.7 v Bt feras e fAug S g e o= &
figg = @oE 3 60° T ni3 fore U9 © sl dE
450 J| /=g 9 GOTEt usT I

From the top of a 7 m. high building, the angle of
elevation of the top of a cable tower is 60° and the
angle of depression of its foot is 45°. Determine the
height of the tower.

13. Hte™d © g 3 ¥ AT® Ju" I aHleca i3 b
Hie & gt 3 Afes & oo 3 terg @ g @
89T dz yIa de I5 | fHu &9 f Hieg &F Garet
Vab J1

The angle of elevation of the top of a tower from two
points at a distance a meter and b meter from the
base of the tower and in the same straight line with it
are complementary. Prove that height of the tower is

Vab.
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TIIHIE-10 g9d9
Worksheet-10

Circle

AHS- TA<t

Class- Xth

1. fEa a3 3 f&x grodt fig 3 fdh Ause
Juret fadhtt 77 AgEt I5 |

The number of tangents that can be drawn from
external point to a circle is

(i) 1 (i) 2 (i) 3 (iv) 4

2. f¥q 99 3 fox grodt fie 3 fudhit Augr
Juret & daret garag JEt 1 (HY/ $0)

The Length of tangents drawn from an external
point to a circle are equal. ( T/F)

3. ffa &9 3 AfHS AU9R Jur<t fadht A
AIEMIt I5 1 ( HI/ $B)

A circle can have finite tangents ( T/F)

4. y@ g g9 Fill in blanks:

(i) for Jag & ruer U 8RS ... et
3 deet J1
A tangent to a circle intersects it in ............ point(s)

(i) IaT »13 Gret AUTH Jur ¥ AT fE &
................. Ffde T51

The common point of a tangent to a circle and the
circleis called ...............

(i) 939 & © faenft 3 dce TH T d
Ffde I& |

A line intersecting a circle in two points is called

5. 7ad TP w3 TQ AT 0 & foH ga9 3 € AUIH
Juret fen 397 96 f& £P0Q =120° 37 LPTQ T HS
JI

If TP and TQ are two tangents to a circle with centre
O so that £P0Q =120°. Then £PTQ is

(i) 70° (ii) 80° (iii)60° (iv) 50°

6. fea e I Affada e qed 3 I3 AH BT 3
A ~ ~ N o N 9
J,999' 3 AUIH IYT & SIS 12 AH J| 9ad =T
WIUfe™ U3T F9 |

The length of tangent from a point at a distance 13cm
from centre of the circle is 12 cm. find radius of circle.

7. o a9 fa fan gag © fan form & fafert 3
ﬁu ﬂ . ﬂ . - N ., . : ﬂ . a?)-l

Prove that the tangents drawn at ends of a diameter
of a circle are equal.

8. fea ga9 § 98 Uit 3 govr fex 9393H
ABCD fufanr famur 31 fifg o9 f& AB+CD= BC+AD
A quadrilateral ABCD is drawn to circumscribes a
circle. Prove that AB+CD= BC+AD.
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9. 75T € AHITJT Joa © WIUfOAH gHET 15
AH M3 17 AN JT, 23 J49 ©f HieT &t $gret usT
I H ¢ III ©F AUTH IuT I |

11. 95 &3 939 9 0 =9 T Ida9 f PT ¥«
AUIH 4T J| 9d PT =12 AH, AP = 8 AN d< 37
III € »idy fan™/ U3 F9 |

If radii of the two concentric circles are 15 cm and
17 cm, then find the length of the chord of the larger
circle which touches the smaller circle.

In the below figure PT is tangent to a circle with
centre O, PT =12 cm, AP = 8 cm. Find the

radius of the circle. .
p
10. 759 f€x g P F0ded T fTH a9 '3 PA,
PB AUTH Ju= nfuyr f29 80° ¥ & '3 Soinit J&
STUST LPOA S| . o 12. 39 f9 | i3 m 99 S e T A miZ B 3
If tangents PA and PB from a point P to a circle with RFF & TIZT FU9E Syt 95| BT C 3 AYSt mu9m
centre O are inclined to each other at angle of 80°, T I3 mE ST D S E 3 et I BT 59 T
Then find £ POA. -
Z/DFE =90°

In figure. 1 and m are two parallel tangents at A and
B. The tangent at C makes an intercept DE between
the tangent 1 and m. Prove that

Z/DFE =90°
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TIAHIE- 11
Worksheet-11

Constructions

JgoTt AHS-TAST

Class-Xth

1) »Ju 9a9 &9 gfenr = ...

Angle in a semi circle is of ............

Z)Wm%mmyaaaﬁwans’eu
faeStort FUTE et fifsht 7 HaE 98 7

Write the maximum number of tangents that can be
drawn from an exterior point to a circle ?

3) a9 g fda nigufenry 59 7 A I5 °

How many radii can be drawn in a circle?

4) 939 & AUIH T, mIE fie 3 AT T
wIufentd ‘3 Jt T |

The tangent at any point of a circle is ............... to the
radius drawn through the point of contact.

5) 4.5 AH = g Juds AB fig w3 ferer B9
AHES™AS 59 |

Draw a line segment AB of length 4.5 cm and
draw it’s perpendicular bisector.

6) 8.4 AH 37 fx Junds fig »= ferg 57 ©
nieus 88 I3 1 €T 3T § HY |
Draw a line segment of length 8.4 cm and divide it
in the ratio 5:7. Measure the both parts.

7) 3 AH »JU feniA o1& g9 Enft far gradt fae
3 ¥ AUIH Iyt fig |
Draw acircle of radius 3 cm. From an exterior point,
draw a pair of tangents to the circle.

8) 4.5 A, 5 AH W3 6 AH 3a< & fex f3gw &F

II&T &I »i3 feg fea I9 f3g7 & I9aT &9 fam Eni

et fa3 3 f3ga it garet ET%BJ‘EF el
Construct atriangle of sides 4.5 cm, 5 cm and 6 cm and

. . . . 3
then construct a triangle similar to it whose sides are S
of the corresponding sides of the first triangle.
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9) f¥x AHzHT f3gH @ Jua’ <9 faAet ¥ gar <t
BITE 6.4 AN 32| feg f¥a 99 f3gn < I9& a9 fam
| Construct an equilateral triangle having side 6.4 cm
each, then construct a similar triangle whose sides are
Siof the corresponding sides of the given triangle.

10) Scm »idu fenuA T ffx Ja9 3 nifader €
AUIH Juret fifg 7 niur @9 600 T & '3 St
J= | Draw a pair of tangents to a circle of radius 5cm
which are inclined to each other at an angle of 60°.

11) 8 AH B fed unis ABfiS 1 A eI Ha A 4
AH »I0 fenmH T £ 959 i3 B JE9 Ha & 3
AH »Ig foorA T &g 99 g9 fig 199 Ja9 ©
JET 3 TAY 99 St AUSH Ut ©F I8 J9 |
Draw a line segment AB =8 cm. Draw a circle of radius
4 cm taking A as its centre and draw another circle of
radius 3 cm taking B as its centre. Construct tangents to
each circle from the centre of the other circle.
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TITHIZ-12

Worksheet-12

Area Related to Circle

dad &'® AYU3 839e®%  AHS-THSl

Class-Xth

Y 1) 99 T WTT 31.4 AH J| II T »aT fenm™m
W3 U39S UST &9 | The circumference of a circle is

31.4 cm. Find the radius and the area of the circle?

Yy 2) ¥ gag faAeT nigufer™ 28 AW T 352
gﬂcf I q96 Bt fat @79 WHIT?  How many times

a wheel of radius 28 cm must rotate to go 352 m?

Y 3) 79 MIT &I =7 UfgH 36 AN I, 3T BAeT
fentg U™ &9 1 If the perimeter of a semicircle is 36

cm, find its diameter.

Yy 4) feq mfeas & ga 11 faHt. g3t 3nf a9 et
5000 I UHET T | IS T fOA™H U3T &9 | A bicycle

wheel makes 5000 revolutions in moving 11 km. Find
the diameter of the wheel.

y 5) fex w3t & fiiet @t get 15 Ay 3t 31 fem
HET gorar 35 fiie 98 3 ISt Bt »is us9es usT
&I | The minute hand of a circular clock is 15 cm long.

Find the area of the face of the clock and howfar does
the tip of the minute hand move in 35 minutes?

y 6) feg I/, fam &% art § dfenm famr 9, &
et 16 Wt 3 Tur q 23 . a9 oSt ot 91 fem
&% a1t § 996 Bt fast =g AT fH&aft? A rope by
which a cow is tethered is increased from 16 m to 23 m.
How much additional grounddoes it have now to graze?

Y 7) 14 AN »Ju forA % £ gaq & fEa e
To ¢ A9 3 MHaE TERE 1wy Yaads w3
oW I3 T U3IEH UST oJ | A chord of a circle
of radius 14 cm makes a right angle at the centre. Find

the areas of the minorand the major segments of the
circle.

Y 8) 14 AH »JUfen™d % a4 ©f 8 #leT 9d9 ©
JEd 3 1200 T J& 8T J| HI3 g%J ¥s =T
¥39E® UST A9 | A chord of a circle of radius 14 cm

subtends an angle of 120° at the centre. Find the area of
thecorresponding segment of the circle.
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y 9) &3 fg39 f<9 ABC fEa vt f3ga I fAm
@9 £A mHIE JIAB »i3 AC S fonrA Hs & wiga
999 g€ 9T I5| A 9 AB=3AH n3 AC=4
AHJ | IdT oI 39T T U39S U™ 9 | In the given
figure, ZABC is right
angled at A. Semicircles are
drawn on AB and AC as
diameters. It is given that
AB =3cm and AC = 4cm.
Find the area of the shaded region.

Y 10) AB ™3 CD €9 O M3 WJUuleM™ 21 AH M3
7 AH % © AH 29t 99T € gHES o,

300 J, 3t ol T &7 Y3IEH U3T
&I AB and CD are respectively arcs 21cm

o
g 9V 6 | (¥Y fI39) Aad LAOB = /

of two concentric circles of radii 21 cm C
and 7 cm and centre O(see Figure). If 7em
ZAOB = 30°, find the area of the

shaded region.

Yy 11) f&3 aig {939 f*T Jae9 3797 €7 u39e® U3T
a3, fam &9 =31 ABCD ® figt A, B,C3 D3
XTI Ho  fddgnt aretnit gt miur &9 3A= AB,
BC, CD »i3 DA ¥ ZHIT HU fdeni™ P,Q, R3S €3
Jfsnr & @ﬁgmﬁﬂﬁlﬁnd the area of the

shaded region in the right

sided figure, where arcs A

drawn withcentres A, B, C

and D intersect in pairs at s Q12¢m
mid-points P, Q, R and S

of the sides AB, BC,

CDand DA respectively of D c

a square ABCD (Use n=3.14).

Yy 12) 939 €9, 28 Ht. 377 % Tadd9 &'
it famratt feurdntt gl I% | HaT a9
Fadag foordt €7 d'Ed s © feadat & Jee
fig 03, 3F TIIIT FNE Mz B Tft Tt
T U39eH T AZ UST A9 | In Figure two circular flower

beds have been shown on two sides of a square lawn of

side28 m. If the centre of each circular
flower bed is the point of intersection
O of the diagonals of the square lawn,
find the sum of the areas of the lawn
and the flower beds.
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TITHZ-13

Worksheet-13 Surface Area and Volume

AT €7 U39SS% M3 nfE3s AWS-EReSl

Class-Xth

Q.N.1 fH®® 9:( Match the following):-

(i) & =7 »rfEss Vol of Sphere nr’h

(i) w&= = »rfE3s Vol of Cuboid lbh

(iii) g% T mfE3s Vol of Cylinder fms
3

(iv) Hg & mE€3& Vol of Cone
1
o - 2
(v) fedx T »fE35  Vol. of Frustum 3 h

Q.N. 2 ¥t gt 39 (Fill in blanks:-)

(i) we= € g% AIT €7 U39 Total Surface area of
CUDOID ettt ere e e e e eenaes
(i) ¥%a & d% AZT T U39S Total Surface area

(@Y 10T 1] RNt
(ili) »IUdS ©F IB AT T ¥IISH Total Surface area of
HEMISPNEIE .eeeeiieeee e
(iv) Fg & I AEAREE y3Je® Total Surface area Cone
(v) f&da € d& AT €7 ¥39EH Total Surface area
Frustum ...............

Q.N.3 WT T »E3s 64K J1 e wE & 37T Uzt
&9 | Volume of cube is 64 cm3. find the side of this cube

Q.N. 4 fE& AH™S »iOg & »igyg fenmA w3 Gorst @&
Hg »i3 %S9 € »ifess 9 A9U R IFind the
relation between volume of cone and cylinder where
the radii of their bases and heights are same

QN.5 r MIUMH T J9 © Wd M3 formm &
™au3 J=AI™ | The ratio between circumference and
diameter of a acircle is
(i) m:1 (i) 1: 7 (i) 1:2 (iv) 2:1

Q.N. 6 Aad € Jifentt T nirfEsst T nigu™s 64 : 27
J2 3 QUs’ @ Y3ISHT T nipUTs UST I9 | If the

r
§nh(R2 +r? + Rr)

volume of two spheres are in the ratio 64 : 27 Find the
ratio of their areas.

QN.7 10 AH 3T TH WE 3 5 AH IA" & fdd WE
g8 AT Ade J& 7 A cube side 10cm s cut into

cubes of side 5 cm . How many cubes are formed ?

Q.N. 8 FAT 10 AH & ¥ waag g8 © Sud
f&x nigu Jier I Jfenr J1 »igu 9% = U 3T FU
fenm 3 Ao 37
surmounted by a hemi sphere. What can be the greatest
diameter of the hemisphere ?

A cubical block of side 10 cm is

Q.N.9 FHIT 3 FH, 4 AH M3 5 AH »idufenmA
=% T3 ¥ fis 37 dfont § fiwer & fx <57 8A
Jie gErfen famr 31 fer 9% = nigy fenmm Uz
JJ1 Metallic spheres of radii 3 cm, 4cm and 5 cm
respectively are melted to form a single sphere. Find
the radius of resulting sphere.

Q.N.10 5.5 AH x 10 AH x 3.5 AH yAa T f¥q
WIE gERE T B 1.75 AH fenma ni3 2 fHHt Heret
T3 fos gt © fHfomm 3 fuw®8eT U< | How many
silver coins with diameter 1.75 cm and of thickness 2
mm must be melted to form a cuboid of dimensions 5.5
cm x 10cm x 3.5¢cm ?
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Q.N.11 3 Ht feni™ &7 g 14 Ht & arfoaret (wieh)
3a yfenr mier I fer &9 foawt fiidt § yo T 99
UH 4 Hf 931 &1 9a9'a9 98397 I8 I AHS

U G <% & T Y9 T ¥ gErfenr der J1 fen
9937 < Gt usT A9 |
dug 14 m deep. The earth taken out of it has been

A well of diameter 3 m is

spread evenly all around in the shape of a circular ring of
width 4 m to form an embankment. Find the height of
embankment.

QN.12 far f&da © fAafontt © u39e® qHe9
4 AH? M3 16 AH? I ni3 89Tt 15 AX d° 3T GRer
nfE3s W3 Ta9 AT T U39SH UST J9 | If areas of

circular bases of a frustum are 4 cm? and 16 cm? and if

height is 15 cm then find the volume and Curved Surface
Area of the frustum.

QN.13 3H & »f¥s3s UsT a9 | Find the volume
of the given solid.

Q.N.14 f& I@HEs wEe T w9 ot B Sa3t
&% gfen I fan 9 a@H Jue T ®Et 99 HY
Mg 43 98 I¢ I& | W< Thort yATgt
(dimensions) 15 cm x 10 cm x 3.5 cm I8 | I U3 =7
Iy fen™ 0.5 cm 13 aifgaet 1.4 em T Ilél_a’
FTHHES 9 Bagt T nifess U3 o9 (f939 ¥8)

A pen stand made of wood is in the shape of cuboid
with four conical depressions to hold pens. The
dimensions of the cuboid are 15 cm x 10 cm x 3.5 cm.
The radius of each of the depressionsis 0.5 ¢cm and
depthis 1.4 cm . Find the volume of wood in the

entire stand. ( see figure)

&
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TITHIE-14
Worksheet-14

magr fefams

Statistics

AHS-gA<t

Class- Xth

1. ufg@mt da yriafza Aftret &7 Hovs ust
9|
Find mean of first five natural numbers.

2. HOHS, HOST »i3 9% <9 of A9 J|
What is the relation between Mean ,Mode,
Median.

3. 335 fad yorg ©F g7 J, &H ©F |
How many types of ogiveare,Name them.

4. A8 U faAH »i3 We faAr @ 395 dee I8

,8r fag 3 fifzA o9 (x9) 3 &9 & Jeer

fae TR |

Measure of central tendency is represented
by the abscissa of the point where less than ogive
and more than ogive intersect is called ............

5. fH®® &9 Match the Coloumn

qHH 1 THBH 2
HOH™S (mean) L (;—;f)) h
JJ&A (mode) 2 fing

] %1,
Hfuar (median) L (fl‘_fo))
2f1-f1-f2

6. TXJ TIBK 45 n3 HUH® 27 < 3 Hfuer usT
9 | If Mode is 45 and Mean is 27 , find Median.

7. ufg@nt UF faAs Afunret g HoHs U3t S99 |

Find Mean of first five even natural numbers.

8. TISBA UST FJ (Find Mode)
) 2,3,4,3,5,6,3

(D)

o

<IIMIITH
(Class 1-3
Interval)

grgard3T
(Frequency)

3-5 | 5-7 | 7-9

9. HUH® U3T &9 : (Find Mean)

<Jdr
Y;"m —_ — — —_ —_ [\ B
s | Z 3 FITIF R E
Interval) w hd ~ © = w b
EISEISEY
7 6 9 13 20 5 4
Frequency
10. HfGa™ U™ J9 :Find the Median
o ® = %) =l | ®
o O / Q [ O o) Q
SECURCE S IO T IR A R A
Class Interval) | " | @& > S B A I S 4
J 5 13 20 14 8 4
(Frequency)
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11. &3t ArIst €9 7 HoHs 25 3= 3T p e HS

U3t I |

Find p if mean is 25.

I SIS
(Class Interval)

01-0

02-01

0€-0¢

0¥-0¢

0S-0%

o)

EISEISEL

(Frequency)

81

Sl

d

9

12. FT Y9 T 396 M3 U Y9 T 396 98,

fer 3 Hfaar € U™ &9 Draw more then and
less then ogive, Also find median

13. J& &3 »idfsnt & HuHs »is Hitar usT 9|

Find the mean and median of the given data:

Class Interval S N N s &
() o (e>) o o

EISEISEY
Frequency ~ = % o =
14. fest rrost €9 349 HOH™®s 57.6 d< d< 3T

f1, £, H® U3T T |
Find f, andf; if mean is 57.6

O
s | 8|88 |2] 2|83
|

| 1 | | | | —

A2l vl g x| ol o

Classinterval) | © | o | & | o | & | © | &
graggra3T

—_ —_ N W —_

(Frequency) | ® o = o o 0 NS

EEERESI] ol oloal |3 ‘ﬁ(
Tl TS

(Class o | ] I . 1 —
SR B IS -S - R A
nterval) S| 8|9
=h

EISEISEY
— — —y %)
(Frequency) | ™ | = S *® | ] o
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TIIHE- 15 AgTeaT
Probability

Worksheet- 15

AHS-SA<T

Class-Xth

QN.1  HIEE T HST THveecrrecnnene,
Write down formula for Probability..............
Q.N.2 (i) far wesT ® TUIE + & TUIT ©oF

(il fadt wes 7 a1 TUg Ag! & AgS
......... det 91

What will be the probability of that event which can
NOt happPeNn?......ccccrreeeee e,

Q.N.3 »ifqdt wesr famer TudsT forfos & J
o Hgesr Jet T

That event which will not surely happen, the
probability of that event is.......................

QN4 ATt wear = euger forfes 9=, nifadt
wesT @ HIEET ... deT T

That event which will surely happen, the probability
of that eventis.......cccuvveeenn.

Q.N.5 far wear T Ag=a
Al |

The probability of any event can not be more

QN.6 fam wes™ &t Ag=aT e 3
22 3dI° J Aot |
The probability of any event can not be less

Q.N.7 #&3d P(E) = 0.05 J 3T P(E &) &t
Hgrear off J°?
If P(E)= 0.05 then find the probability of ( E not)

Q.N.8 TR weaT & Ages faasHx J Ade! J|
(AJ/a1®3)

Probability of any event can be negative?
(True/False)

Q.N.9 ot fam wear & Ag=ar 125% J AsE! I°?
(Tt / &)

Probability of any event can be 125% ? (True/False)

Q.N.10 f&x U<t 39 144 g% & fAA fo5° 20
fen famr, AgesT usT a9 & g&9:
(i) ¥9mg J= (ii) 49" &7 I< |

There are 144 bulbs in a box in which 20 are
damaged. One bulb is drawn randomly from the
box, Find Probability of the bulb

(i) Damaged (ii) Not Damaged

Q.N.11 € UH &£ HS AT I&| Ag=a UsT
9

(i) Aftmiet &7 A3 8 I |

(i) HAftmiet @7 93 ufe 3 ufe 10 d2|

Two Dice are thrown simultaneously . Find the
probability of getting:

(1) Sum of numbers are 8.

(2) Sum of numbers at least 10.
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Q N.12 f&x 88 &g 10 I&MmIT, 6 BT i3 4
JIft giet g5 | fem 8% T f&x T neea
799 o=t It | AgeST UST &9 9799 o=l aret
are:

(i) SIF &7 I (i) T I2 (iii) TS I (iv)
AT J2 |

There are 10 black balls, 6 blue balls and 4 green
balls in a box. If a ball is drawn randomly from the
box , find the probability of getting (i)Not blue (ii)
Green (iii) Black (iv) White

QN-13 f&x un ¢ f€a =9 Hfenr Ffer

3, Ages U3t J9 fa Qua nifBz T i -

(i) »34 (i) 2 W3 6 T fegaa (iii) 2= (iv)
s 92|

A dice is thrown once. Find the probability of
getting: (i) Prime number(ii) Number between 2&
6 (iii) Odd number (iv) Even Number.

QN.14 f&x Ut feg 1 3 90 3 Tt
WSS I79d =t ATel J, AgeaT U3T 9 fa =t
It ude T 83 nifazs At

(i) © viat @ (i) f€x yIs =7ar (iii) 5 5% 5T
e &% (iv)fArs "Afanm (v)eis "Afam (vi) 3
M3 5 &% 3T AE TH A IL |

There are 1 to 90 numbered platesin a box. One
plate is taken out. Find the probability of getting a :
(i) Two digit number (ii) a perfect square (iii)
numbers divisible by 5 (iv) Even Number (v) Odd
number (vi) Numbers divisible by 3 & 5

QN -15 feg daft 3gF & 52 Ufznrt &F 3| <t
dict feg f&q U™ nigex g7d9 dfent 7ier J
AgaT UST o9 fo sfem famrr U3 - (i) &% Jar
T (i) 3RS T (i) f¥e T U3t (iv) gTAT
(v) I JdT T7 IASIT U3T
(vi) TIH T J&H (vii) U'a = 10 (viii) fost &t
FAH (ix) e & 4 (x) &% Jar & FIH (xi) T3
Jar = fEa (xii) ISH
In a well shuffled pack of 52 cards one card is
taken out. Find the probability of: (i) Red card (ii)
face card (iii) Diamond card (iv)King (v) Black
face card (vi) Jack of spade
(vii) 10 of heart (viii) Queen of club (ix) 4 of
diamond (x) Queen of red colour (xi) Ace of black
colour (xii) A Jack

Q. N. 16 T fHfontt § fetd Barfomm Afer T |
AgesT UsT &9 (i) uie we fEg f93 (i) <u 3° <u
g e (iii) ¥ f93 Two coins are tossed
simultaneously . Find tail (iii) one head.the
probability of getting (i) at least one head (ii) at
most one
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